Errata for ACTEX Exam P/1 Review Questions
February 7, 2011

Page 68 — E6.

The numerator for the second derivative should be "6," not "12."

Page 145 - F6.
Add the following phrase to the last sentence of the question:

"given that a nonzero payment occurs."

Page 262 — Al5.

In the second line that begins with E[JH], eliminate the second integral sign and replace
"k" with "h."

Page 277 - D21.

In answer E, the second subscript should be "2," not "1."

Pages 291-96 .

Eliminate these pages. These topics are no longer part of the Learning Objectives for
this exam.
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